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(Full Marks - 300

(gorts : 300

Note : Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted Jor each incorrect answer.
Zero mark will be awarded for each unattempted question.

S vl ) 5@+ w1 ww 7| @
YRI% 7T I9Y & g 1

YIRS =78 |

TH 3 (dR) = w1
(TF) o& @rer ardm | S Swha & @

Choose the word which is closest in meaning to the underlined word :

1. Slender
(1) Delicate
2. Ascend
(1) Fly
3. Imrelevant
(1) Unnecessary
4. Exorbitant
(1) Costly
3. Credible
(1) Believable

(2) Thin

(2) Rise

(2) Unreasonable

(2) Priceless

(2) Worthy

()

(3) Chuleby

(3) Climb

(3) Irrational

(3) Excessive

(3) Noticeable

(4) Fine

(4) Transcend

(4) Inapplicable

(4) Extravagant

- (4) Remarkable

(Turn Over)
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6. He shouted the top of his voice, but his friend didn't hear him.

(HTo (2) At (3) On (4) About
7. He ‘ me for the last few months that he is leaving India very soon.

(1) told ”

(2) hastold

(3) has been telling

(4) has been told
8. There are people who take things for granted.

(1) too (2) too much (3) too many (4) much
9. You are ready to go, ?

(1) Isn'tit? 2) Isit? (3) Arewe? (4) Aren'tyou?
10.He was allowed to sleep , he had finished his home work.

(1) Only (2) Tall (3) While (4) After
11. He said he come later. ’

(1) can (2) would @) is (d) has
12.She rather annoyed.

(1) felt (2) has felt (3) had felt (4) feels
13.— ——— I should have seen him.

(1) If he had come

(2) If he has come

(3) If he comes

(4) If he is coming

(2) (Continued)
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(Ques_ﬂon No. 14-!5) Choose the word with correct spelling :
14.(1) advantageous
(2) advantegious
(3) advaritagaeous
(4) advantageouse
15.(1) Eccentric (2) Ecentric (3) Ecentrec (4) Ecenntric
Instructions (Q. No. 16-18) ' '
In the English alphabet, letters from A to M denote numeric values from 1

to 13 (such that A=, B = 2, C = 3 etc) and letters from N to Z denote
numeric values from —13 to —1 (suchthatN=-13,0=—12 etc.)

Rdw : (3w 16-18)

IR T F AXMaw & I | @ S 13 % wem am féfim = # (R
A=1,B=2C=3 yR) a0 N? & Z 3% F 3 —13 QA —| 7% 1 T
mﬂi&am&ti(#&N=—l3,0=—12!ﬂ!ﬁ)

16. The numeric value of which of the following equations will be a whole number :

Ferfen wfteit & & R wea am qof wen 2 -
J A4
(1) KISS/RAPP* (2) HIS/Hﬁ.L" (3). H?SS/YOUR (4) MEET/DEAL

17. Assuming that salaries are basically coded with the help of employee names using :
the code given above, who among the following will be drawing the highest salary. °

(1) PREM (2) SHAN (3)RAMU - - (4)'SEMNA

(3) (Turn @erj
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ﬂmﬁi&ﬁ&m,m&ﬁtmﬂmﬂmgmmmﬁw
fem mn | B § @ # waiftes 39 W w8 |

(1)3m (2) ™9 (3) (4) €=

e ollowing the above mentioned code, which of the following will be true :
2 w&aﬁz%smmﬁwmaﬁﬁmmi\m:

(I)GS-TSZ=0  (2) PROP=DLW (3) ROD=YET &sANT =BIR

19. Cigarette is to tobacco as
(1) Cigar : Filter
(2) Shoes : Socks
(3)Milk : Bottle
(4) Coffee : Caffeine
i : g @

(1) R : feex (2) @ : ¥R (3) 3@ : I (4) T : SR
20. Winter is to Snow as

(1) Summer : Heat

(2) Monsoon : Rain

(3) Autumn : Trees

(4) Field : Grass

el ah @
(1) frsq : oft (2) wega : afm (3) W= : ¥ (4) ¥2M : O™

(4) (Continued)
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(Question No. 21-23) Analyse the statements and identify the correct
choice : '

ent

Allhill stations have a sunset point.
X is a sunset point.

Conclusion

(@) X has a sunset point.

‘ (b) Places other than hill stations don't have sunset point.
(1) Only conclusion (a) follows

(2) Only conclusion () follows

(3) Conclusion (a) and (b) follows

(4) Neither conclusion (a) nof conclusion () follows

Ca-Cf

aft vl woal wogata e v

X qaia s ? |

ﬁﬂ* .

(@)X & 98 0 gata gz ? |

(b) vt T = S5 W =1+t qafe D A A |
(1) ¥ frepd (o) w0 R |

(2) % s (b) ot @

(3) Frewd (a) 3t () 3T vl ¥

(4)7 @ Frswd (o) vt & ot 7 @ Frswd () wé R

(5) J (Turn Over)
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22. Statement

All clerks are lazy.
Some men are clerks.

Conclusion

(a) All lazy are men.

(b) Some men are lazy.

(1) Only conclusion (a) follows

(2) Only conclusion (b) follows

(3) Conclusion (a) and () follows

(4) Neither conclusion (a) nor conclusion (b) fqllows

HYq

it foifde et € |
o =t fofes & |

Fred

(a) @t et =afew &

(b) T =t et & |

(1) %3 fred (a) ot R

(2) Faat fFrewd (b) =t 2

(3) Frswd (a) 3R (b) QA vt &

(4)7 7 faswd (o) @@ ¥ 3l 7 4 Pt (b) vl R

(6) (Continued)
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All roads are poles.
Some houses are poles.

Conclusion

(@) Some roads are houses.

(b)_ Some houses are poles. -

(1) Only conclusion (a) follows

(23 Only conclusion (b) follows

(3) Conclusion (a) and (b) follows

(4) Neither conclusion (@) nor conclusion (b) follows
+$9q

a4 7ed @ € |
I APA TR ¥

Frend

(a) 3% Wb T E |

(b)F® 7P @= § |

(1) et freamd (a) w2

(2) ¥t frsad (5) wdt R
(3)frsd (a) ikt (b) 3t vt &

(4)7 @ s (a) @ 2 3k 7 & fasd (b) Tt 2

(7)
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24.How many 7's immediately preceded by 6, but not immediately followed by 4
are there in the following series :

Prffa gaen # B 7, 6% oM AR 4T TR T X

7427643675357
8437672406743
(H1 ()2 (3)4 4)6

In the following questions 25-26, there are four words in each question.
Three of them are alike in a certain way, while one is different. Choose one

which is different.

frafeian W O 25-26 ¥ ¥® ¥ § w0 v & TR AME W A
mﬂi,m%@milmmgﬁm

25.(1) Khajuraho ~ (2) Ellora (3) Vindhyachal ~ (4) Konark
(1) T (2) @@ (3) frera= (4) PoE
26.(1) Leh (2) Shimla (3) Aizwal (4) Kohima

(1) (2) femren (3) srde (4) wifEm

27. An H.R. company employees 4800 people, out of which 45% are males, and 60%
of the males are either 25 years or older. How many males are employed in H.R.
company who are younger than 25 years ?

o Ta, AR, Fe § Fat 4800 st wHd & | 37 45% o ¥, 3 60% TeW 25
aﬁ:gaﬂwmw%% | e qou TE, AR, FAt & a6 25 ¥ FH
3N |

(1) 2640 (2) 2160 (3) 1296 (4) 864

28.1n a test, a candidate secured 468 marks out of maximum marks 'A'. If the
maximum marks 'A' were converted to 700 marks, he would have secured 336 -
marks. What were the maximum marks of the test ?

(1775 (2) 875 (3) 975 (4) 1075

(8) (Continued)
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& 0w # ww v 3 arftem aim A S @ 468 3im w2 | IR sftrmam arw
AR 7003ﬁasﬁaaaﬁmmtahas336aimm?ﬂémt | Tten &1 ¥y 3w
Nqrq ?

775 @) 875 3)975 (4) 1075

29.In an entrance examination, Rama scored 56% marks, Poonam scored 92%
marks and Seema scored 634 marks. The maximum marks of the examination
are 875. What are the average marks scored by all the three girls together ?

T S T8 # T X 56% i, W X 92% 4% qw & A 634 31 ww f vhan
F1 HAftrran 37w 875 3 | fit wrgfnat grr w w sw R sitea ofw w2 2

(1)1929 (2) 643 (3) 815 (4) 690
30.In a certain code 'COURSE' is written as 'FRXUVH', how would 'RACE' be
written in that code ?

ﬂﬁMFWﬁCOURSEﬁFRXUW%@Im?thWﬁRACE
! &1 foran s ¢

(1) HFDU (2) UCFH (3) UDFH (4) UDFG

31.If a rectangular were called a circle, a circle a point, a point a triangle and a
triangle a square. The shape of a wheel is

(1) Rectangle (2) Circle (3) Point (4) Triangle

R Ya ) ga FE 9@, 34 B fag, R B e sl B ) o A 9RRa =1 aen
M 7 |

(1) X ) 79 (3) g (4) P

(9)
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32. Two numbers are such that the ratio between them is 4:7. If each is increased by
4, then the ratio becomes 3:5. The smaller number is

2 et s &, R e & s 478 | a2 w2 # 4 7z R I @ HIeE
3.5 % a1 ¥ | g wew R
(1)24 (2) 28 , (3) 32 (4) 36

33.If P mean x, Q means +, R means +, S means —, then 16Q8R4P5SS5 =
a2 PH e «, QH IE +, R I 5, SH K —, 9 16Q8R4APSS5 =

(116 (2) 21 3) 25 - (4) 14

34. Reshma is elder to Disha, Sandeep is young to Reshma and Rani. Rani is younger
to Disha. Who amongst is the youngest ?

(1) Reshma (2) Rani (3) Disha " (4) Sandeep

::ﬁmaam,mqmammamzm&mamamaama@a
2?

(1) X (2) T (3) Ram (4) @&

35, If the first Day of a month is Thursday, which of the following would be the fifth
day from 16" day of that month ?

(1) Wednesday
(2) Thursday
(3) Friday

(4) Data inadequate

(10) (Continued)
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% oy 1 e o e @ 2 e 5 168 R @ i ot g 7
(1) gmar
(2) Jeesfram
(3) gEmm
(4) ¥ & +¢ ff

36. Which of the following is the most affected by extreme values of variables ?

(1) Median
(2)Mode.
(3) Arithmetic Mean
(4) None of these
e 3 & w1 < 3 o 7 @ et s g A
(1) wftzam
(2) g5
(3) AT "y
(&) v & w7

@m girls are sitting on a bench to be photographed. Rama is to the left of Ruchi
end o the right of Archata. Mecna st the left of Ruch. Riya i between Ruchi
end Meens. Who s sitting immediately right to Riya.

(1) Meq/m (2) Ruchi (3) Rama (4) Axchana

(11) ' | (Turn Over)
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qiw aefral 9 faam & ol dFaw A § o o ¥ &R 3k o & T e
2o o o | f s oo & e R ) W A 9 R & g el
b g

(1) )&~ (3)wn (4) 3

38. The word which cannot be formed using the letters of the word TRANSPORT
is
7 &1 w2 'TRANSPORT W& & wftada gra 7t s=man o weha R

(1) SPORT (2) STRAP (3) TRUST (4) START

(Question No. 39-40) Three of the following four are alike in a certain
way and hence form a group. Choose the one, which does not belong to the
group :

(mﬁw394o)ﬁmﬁt%amﬁﬂ?ﬁqqmmﬂt 136 @& H I RN
g & e A 2 :

39.(1) Drop (2) Decrease  (3) Dip (4) Change
(13w (2) b GHfe @

40.(1) Exchmge (2) Replace 3) Discriminate  (4) Substitute
(1) T (2) = @) Refefie (4) "Rz

41.125% of 860 + 75% of 480 =
860 &1 125% + 4801 75% =

(1) 1415 (2) 1385 ’ (3) 1435 (4) 1365
42.Mr. X purchased 100 pieces of a material @ of Rs. 480 per piece. He then listed

the price so as to gain a profit of 20%. While selling the articles he offered a
discount of 5%. What is the percentage of profit he earned in the deal ?

(12) (Continued)
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fr, xi'noﬂgﬂﬁm%ﬁmmt 100 38 Wi | werrara 38X 20% wmw
vﬁtw&umm.ai&qﬁjghﬁﬁmm 5% &2 1 e fn |
- W 3 g ke o e T f 7
(1) 16 (2) 14 : 3)18 4) 20
43. Three &ifth of a number is equal to 70% of another number. What is the ratio
between the first number and the second number respectively.
et swm A 3/5 w1 wor gk s % 70% ¥ ww # | TEeht ik el wom & fw
w1 g g 7
(1)6:7 (2) 7:6 (3) 8:5 (4) 8:9

#4. (28/65)x(195/308) +(39/44) + (5/26) = ?

(H13 (2) 172 (305 @1
¢8.10% Pravasi Bharatiya Diwas was held at

(ONewDeli @) Mumbei  (3) Jaipur (4) Agra

loﬁw&miﬁmmwmﬁuﬁmw o

Mt s (3) syt (4) srrg

46, Kudankulam Nuclear Power Piant is situated in

(1) Kerala (2) Temil Nadu (3) Kamataka (4) Goa
WEMER W] W% Ty R R ‘ _
(1) ¥F= (2) afremg 3) w=kw «jmf'-

(13)
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47. According to a study published by GE., India stands ——— position in Global
Innovation Chart of most innovative country.
. §, 70 v O e % AR WK waiitn st 3 % IR TR
e F A W . g
(1)5 ()6 31 @1

_ 48.Rating Agency Standard and Poor (S & P) lowered the Long Term Sovereign
Debt Ratings of USA into - B :
mﬁuﬁwﬁaﬁ(@mﬁ)iu«qﬁmmﬁmmt
(1) AAA+ (2) AA+ - (3)AA (4) AAA

49. Tahrir square is in .
(1) Cairo (2) Tripoli (3) Damascus (4) Athens
axtt 99 R R
(1) B (2) fraveht (3) T (4) =8

50. Amjad Ali Khan is known for |
(1) Sitar (2) Sarod ~ (3) Shehnai (4) Tobla
I el a v ol I o § |
(1) Rram Q&R (3) werd (4) ween

51. Homai Vyarawala is known for her contributions in
(1) Photo Journalism
) Diplomatif: Relations
(3) Entrepreneurship
(4) Engineering

(14) (Continued)
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TR WA A9 W AT & R AR O §

(DeRwwfam  (2) wAfwEEy  (3) wmiw - (4) sftmR$
n.mwmmd@muspwlwgmmwmm
(1) Physics (2) Medicine | (3) Chemistry  (4) Peace

-giﬁmmmmﬁﬂmwimmw CER
= ,

(1) (2) fefsmnr (3) wmra (4) wiR

S&Report of Forest Survey of India-2011 says that India’s Forest cover is declined
by K.M. during the period of 2007-09.

(1)500sq.km.  (2) 367sq. km. (3)418sq.km.  (4) 650sq. k.m.

WA T s R 2011 % JFER 2007-09 6 vty & e W & 7 = &
——f s, W

(1) 500 %1 ¥ s 30,
(2)367 wi ofy fif,
(3)418 % o fis 3,
(4)650 =i o fs s,

5. Whowﬂ:eunhorof'kevohnngOZO'?
(1) Jhanavi berua

. (2) ChéateiBligat
*(3) Vikram Seth
(4) Amih Tripathi

(15)
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TR 2020’ HAmm WA R 7
(1) Smeht wesn
(2)9m W
) a4
(4) ftrg Brart
55.March 8 is observed as
(1) World Literacy Day
(2) World Population Day
(3) International Women's Day
(4) Mother's Day
8 urd ® WA wmn R
(1) fea wrgn Raw
(2) v sEE Raw
(3) Fwiga wften Rew
(4)7gea R
56. Who was the winner of Ranji Trophy 2010-11 ?
(1) Kamnataka (2) Rajasthan (3) Mumbsai (4) Delhi
ot gt 2011 1 AR W @ ?
(1) FAie® (2) WA 3) gt (4) Reh

(16) (Continued)
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57.99* Indian Science Congress was held at

(1) Kolkata (2) Bhubaneswar  (3) Bangalore (4) Chennai
99 3t wrfta fawm e s won @
(1) Brewrern (2) AR (3) WER (4) 3=

58.FIFA's World Footballer of the year 2011 is
(1) Lionell Messy
(2) Steven Gerrard
(3) Wayne Rooney
(4) Christiano Ronaldo
ad 2011 % Bt fava pearen §
(1) forie A=t
(2) e
)& ¥
(4) FrfRumt e
59. Hall Mark denotes
(1) Safety Standards
(2) Pollution Levels
(3) Quality Standards of Gold

(4) Stock Market

(17) (Turn Over)
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v Wk Fifde wa b

(1) g wes (2) SEE ®R (3) @R A EEET  (4) N AR
60. Govt. of India recently announced 100% FDI in

(1) Civil Avitation

(2) Shipping

(3) Single Brand Retail

(4) Defence Materials—Manufacturing

Tl ® ¥ WKa TR X 100% 768,30, iﬁu'lwniﬁltasﬁat

(1) g

(2) JETSTE

() e g foht

(4) & wreft @@ IR
61. Which group has majority of shares in TV-18 Media Group ?

(1) Reliance (2) Tata (3) AdityaBirla  (4) Mzhindra

Tv-lstﬁ%mmﬁﬁmmﬁm%rmfﬁirﬂ ?

(1) e ) 7@ () sk e (4) 70
62. Which one of the following is wrong ?

(1) Santosh Hegde = Former Lokayukta of Kamataka

(2) P.C. Chacko = Chairman, Public Accounts Committee

(3) G Madhavan Nair = Former Chairman, I.S.R.O.

(4) Justice Sree Krishna = Chairman of Committee on Telengana Issues

(18) (Continued)
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i3 @ a7
(DEIR = v 5 T o
@A & T = raw w Jar wRA
(3)h, 7o TR = qd ey, W
@)IRERFom = Ao R H wRf F sam
63.K-152 Nerpa is
(1) Surface to surface missile
(2)Fighter Jet
(3) Submarine
(4) Radar
K-15230 t
(1) %E @ wag i s
(2) werg, famm
(3) vag=
(4)®r
64. Portfolio Management Scheme is related to
(1) Investment in Mutual Funds
(2) National Savings Certificate
(3) Infrastructure Development
(4) Credit Limit of Banks

(19) (Tian Over)
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e s R & i &
(1) ==a & # fafdm
(2) Tt & 7

(3) gfamsit @ fawa
(4) &R & w9 H dm

65. Aung San Suu Kyi belongs to

(1) Bangladesh ~ (2) Myanmar (3) Bhutan (4) Nepal
M g g N @ aweh ¥
(1) areTeH (2) =R 3) R (4) YT

66.Find the odd one out
(1) Facebook (2) Google Plus  (3) Linkedin (4) Ebay.in
Ao i eR aem e ? |

(1) ¥ag® (2) T& <= Q) w 4) /W
67.The folder (in email) retains copies of message that you have started

but are yet to send.

(1) Inbox (2) Drafts (3) Outbox (4) Address book

o wres (4 3t ) 9 3w Bl T e o o 7 B T 6 A wR T @

(1) Fenes (2) I (3) I3aTE (4) @ &

(20) (Continued)
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68.The process of transferring files from a computer on the internet to your
computer is called

(1) FTP (2) JPEG (3) Downloading  (4) Downsizing

:cﬁngﬁmﬁwﬁmaﬁwﬁﬁzwﬂmmﬁmm@

(1) Twidt (2) Sfrésh (3) TRAAfEN (4) TREERm
69. World Economic Forum. Annual meeting-2012 was held at

(1) Davos (2) Johennesberg  (3) Berlin (4) London
fava snfés wa A affes aw-2012 smaifa wf &
(1) g (2) vt (3) affx (4) =

70. The earliest Buddhist Literature, which deal with the stories of the Birth of Lord
Buddha

(1) Vinay Pitakas
(2) Sutta Pitakas
(3) Abhidhamma Pitakas

(4) Jatakas |

A 4 ot § | fra § g % 9 | wafta suit w1 ga
(1) e v

Q)@ ==

(3) Ao vew

(4) s
(21) (Turn Over)
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71. Shillong Declaration is related to
(1) Food Security Act
(2) Right to Education Act
(3) Prevention of Corruption Act
(4) Right to Information Act
et s iftr &
(1)@ra g fagas
(2) foren =1 rftrer fads
(3) werem sfiafa fadas
(4) g = AR
72. Bhupan Hazarika was awarded ——.
(1) Padma Vibhushan
(2) Bharat Ratna
(3) Param Veer Chakra
(4) None of these.
A T W- 3
(1w fanmo
(2)¥Ra T
(3)vm ¥R 9%
(4) ¥ | a1 78 |

(22) (Continued)
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73. Australian Open 2012 was won by
(1) Novak Djokovic
(2) Rafael Nadal
(3) Mark Lopez
(4) Roger Federer
Frefmm AT 2012 % o
“F"‘,"W"""'ﬁ* (2) & == (3) Wk @R (4) TR Fz
74.Kamala P. Bissessar is the Prime Minister of
(1) Surinam |
(2) Singapore
(3) Mauritius
(4) Trinidad & Tobago
Fxen f, faede g R
(1) gm
(2) R
(3) wrvs
(4) Rfrs 3k darit
75. Which one of the following is not correct ?
(1)NathuLa — Arunachal Pradesh
(2) Kamakhya Temple — Assam
(3)Majuli — RiverIsland
(4)Yumtng = — Sikkim
(23) ~ (arn Over)
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e 3 @ & wh Tl R
()T e — IRvned %e¥
(2)wmrem  — @Y
Ggm — T
@)awam  — fafew

76.Gateway of India was built, in order to commemorate the visit of
(1) Prince Charles and Princess Diana
(2)King George V & Queen Mary
(3) Queen Elizabeth
(4) Queen Victoria
23 e ¥Rew @ fuio @ & IR F @ 3§ e @
(1) Br=a wreta ok Bt s/
(2) e it d=m ik w7 b
(3) T fereme
(4) == T2t
77. Chitrakoot Waterfall is one of the prominent tourist attractions of
(1) Jharkhand
(2) Chattisgarh
(3) Odisha

(4) Madhya Pradesh

(24) (Continued)
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frreiz e aut @1 weeret vz v

(1) ¥rarg (2) wtitwg (3) S (4) wea s
78.Golden Chariot is operating its services in

(1) TamilNadu  (2) Kamataka (3) Andhra Pradesh (4) Kerala

ez e s Jard il s wwan @

(1) ey (2) Fiew (3) I Rw (4) =
79.Jagannath Temple is situated in

(1) Dwarka (2) Somnath (3) Nassik (4) Puri

STy i fera R

(1) TRt (2) W (3) TR® (4) 38
80. Fort Aquada' is in

(1) Goa (2) Kamataka (3) Maharashtra  (4) Gujarat

‘B wEe’ R

(1) e (2) FAieH (3) wery (4) T
81. Which State has given the marketing tagline — 'the heart of India’

(1) Uttar Pradesh

(2) Madhya Pradesh

(3) Himachal Pradesh

(4) Andhra Pradesh

(25) (Tian Over)
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g 2w ) % ot w0 e ¥ — ‘W & Re’
(1) RA (2) we w&u (3) T 2
“82.Rann Utsav 2011 was celebrated in

(1) Maharashtra  (2) Gujarat (3) Rajasthan
- o J9Ed 2011 Imfa e @

(1) 7w )\ (3) ToEH
83.T3 terminal is in which airport ?

(1) Mumbai (2) New Delhi (3) Kolkata

A3 fifre frw ward s R

(1) gead (2) 7 gt (3) e
84.Hailey National Park was renamed as

(1) Sariska National Park

(2) Ranthambore National Park

(3) Corbett Naﬁonal Park

(4) Dudhwa National Park

%éinﬂw}nnaaavﬂdﬁﬁ=nnt

(1) sfe e 3am

(2) TrarER T U

(3) FreEe TP IJaH

(4) guan T 3ue

(26)

(4) 79 RN

(4) Goa

©(4) TR

(4) Chennai

(4) ¥ut

(Continued)
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85. Tidal Forests can be found in
(1) Valley of Flowers
(2) Nilgiris
(3) Darjeeling
(4) Sunderbans
o ARG I IR 1 w5 §
S Red (2) fefi (3) zftferm (4) g
86. Knmshka belonged to ' |
(1) Sunga Dynasty
(2) Kushan Dynasty
(3) Maurya Dynasty
(4) Gupta Dynasty
whre wafta @ ,
(1) gn Taw Q) FmiTwEn  (3) W veEw (4) ¥ Tw
87, First battle of Tarain held in ' |
A HT YW Jg ¥ @
(1) 1191 (2) 1192 (3) 1193 ~(4) 1190
88. Servants of India Society was founded by
(1) Swami Vivekananda
(2) Bal Gangadhar Tilak
(3) Gopal Krishna Gokhale
(4) Rabindranath Tagore N
| (27) (Twrn Over)
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Wt Yas FAS B T W g 6 g
(1) @ mh fRwm=
(2) = R ferw
(3) Tiares o e
(4) iz i
89. Which one of the following is not a French Enclave ?
(1) Mahe (2) Yanam (3) Daman (4) Karaikal
= 3 A A o wredeht a=h T R
(1)=r (2) T 3y (4) TR
90. Autobiography of Dalailama is
(1) Memories
(2) The story of my life
(3) Freedom in exile
(4) Out of my life and thought
Zaréam 6 e &
(1) ¥l
(2)3 R T wrd A
(3) e T T

(4) I 3ATH ATEH W AT

(28) (Continued)



91.Cosmic air mainly operates in

(1) Nepal (2) Bhutan (3) India

(1) 39 (2) ¥z (3) wra
92.In which country 'Green Peace' was established ?

(1) Germany © . (2) Canada (3) UK

v 3w e R it e w7

(1) (2) == (3) 1%,

93. Which one of the following is not a member of BRIC Group ?

(1) Brazil (2) China (3) Ireland
fives 2t & i o @
(1) Wi : 2) ¥R (3) e

94. Which place is known as Land of Cakes' ?

(1) Scotland (2) Ireland (3) Iceland

¥ g’ & IW } R g S I R 7

(1) =izt (2) It (3) Al

(29)
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(4) Bangladesh
F4) LS

(4) Spain

(4) &=

(4) Russia

(4) &=

(4) Green Land

(4) Bl
- - Overy
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95. Which one of the following is not a world heritage site ?
(1) Humayun's Tomb
(2) AgraFort
(3) Taj Mahal
(4) Lotus Temple
Prafefya § @ #1  favacm wrw T R 7
(e ® wwan  (2) IrE feen  (3) a9 wEE

96. Shersha's tomb is situated at

(1) Aurangabad (2) Patna (3) Nalanda
Fame gh =1 whau e R
(1) o (2) v (3) TR

97. Pragati Maidan is
(1) Asian Games Village
(2) Hotel
(3) Convention Centre
- (4) Stadium
wfa A }
(e @ nta  (2) B (3) weda dem

(30)

(4) S T

(4) Sasaram

(4) araTH

(4) RfEtam

(Continued)
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98. Tropic of cancer lies

of Equator.

(1) 23{ Noth  (2) 23%-°South 3) 66-;1;North 4) 66{South
b Y faga Y & 3

1) 23{ (2 23%" R (3) 66{ I (4) 661 o

2
99. Which one of the following place is known for Meditation and Yoga ?

(1)Rishikesh  (2) Manali (3) Mussoorie  (4) Dehradun

Frafiea § @ 19 @ o @ sk 9 Rl e o R 2

(1) =¥ (2) wareht (3) wgl (4) 2ETg3
100. Which circuit is called as the Golden Triangle of India ?

(1) Delhi—Agra—Jaipur

(2) Delhi—Chandigarh—Manali

(3) Delhi—Agra—Varanasi

(4) Delhi—Shimla—Manali

fw whow A wra = @i g s 7

(1) Ref—smwr—srage

(2) Reft—rg—wreh

(3) Reft—smro—amowdt

(4) fet—Fermren—sreht

(31) B-500
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